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a+ b9 F& stoiet

>

> Hehl o

B \
fx)=x*+ax®+bx-12 O™
¥ -3x+2=(x-1)(x-2) °|BZ f(x) = x—1, x—2 2 0]
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= A3 + 3A2x* 4 3Ax8 + x!2

= A% + (3A% + 3Ax* + x8)x?

o] o (342 + 3Ax* + x®)xt 2 X3S E3st
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¥ —13x +12 = (x — 1)(x = 3)(x + 4) F TF4 2] Fo] 4%}
Alo|al FAFH 7 33 ol B R FdlFofe 124 ol
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i1)GCM.=x-1°Hp=-4,4=3
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22. M AT abc7tat+b+c=3a>+0>+c*=9,a+b+c* =24
EWEAZ W, @t + bt 4 ¢t + 19 P& FokE?

@6 @m0 @ 71 @ 72 ® 73

~&B ~

at+b+c=3---@

a?+b>+c*=9---Q
a®+b3+c3=24..-Q o]zt o},

@A A
a’?+b?>+c?=(a+b+c)*-2(ab+ bc+ca) =9
9—2(ab + bc + ca) =9

~ab+bct+ca=0 ---@

®AollA

a+b+c3

= (a+b+c)(a*+b?+ c? —ab - bc - ca) + 3abc
24 =3-(9-0)+ 3abc

abc=-1 ---®

at+ bt +ct+1

= (a® 4+ b? + c?)? = 2(a®b? + b2c? + ?a®) + 1
=81-2-6+1=70

(o a2b? + b2 + 2a?
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23. RE xo] et fx+1) - f(x—1) = 622 + 6, f(0) =12 7=
A7l oA f(x) 78 Aok tha2 A noll Hiske] (x + @) =
X'+ nax"! 4o 4+ oS o83k, f(x)E Fohe AAgelth

f(x) = apx"+ a1 x4 +ayx+ag(F a, # 0) 2L FOH
flx+1) - f(x=1)

=a{(x+1)"=(x-1)" +a{(x+1)" = (x=1)""1} 4+ +
a{(x+1)-(x-1)}

= 4 =6x246

AN n=3, a,=1

Lfx) =3 tax® +ax+1

fx+1) = f(x=1) = 6x2 + dasx + 2 + 241

OlBER gy =0, a1 =25, f(x) =x>+2x+1

glo] Zo] oA [ el dore 2L
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Flx4 1) = fx=1)
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@ 100x + 101 @ 100x - 99 @)-100x-99

@ -99x-98 ® 99x + 100
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Tt YHAE ax + b2t 5HH

1100 = (x+1)2Q(x) + ax+ b
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=
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